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AIRPORTS AUTHORITY OF INDIA
NOTICE

Revised answer key

Online examination held on 26.12.2015 for the post of JE(ATC)

Since certain discrepancies/errors were reported/observed, therefore, necessary corrective
measures have been taken by applying this revised answer key and the re-evaluation has
been done accordingly. The objections, if any, may be intimated within 7 days.

Junior Executive ATC Shift 2

Number of optional sections to be attempted: 0, Group Maximum
duration : 0, Group Minimum duration : 120, Group Marks : 120.0,

Revisit allowed for view? : No, Revisit allowed for edit? : No, Break time: 0

Physics and Mathematics

Section type : Online, Number of Questions to be att ted:60, Mandatory or Optional: Mandatory, Section Marks: 60.0

Subsection : 1, Question Shuffling Allowed : Yes

Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following quantities is a vector?

Options :
1. "
- Speed
2. — .
% Gravitational Potential
3.
T
v orque
4; Energy

Question id : 6037 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frafafaa & o =i @ a7 afger 872

Options :

1. =

#

2 aecd faeE
i a3

3.

v 3T ae

4. ;

#

Question id : 6038  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 3 ms~ for 10s. It then runs at

i 2 3 o -
constant speed for 20s and decelerates at Sms™ until 1t stops at the next station. The distance between
the two stations 1s:

Options :

l} 840m
2& 740m
; 640m
4. 340m


dell
Stamp


W

Question id : 6038 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T AT Yo R AT §F vH T ¥ 9o ¢ AR 10 ¥ a6 dms? fraw &

Ifd Ferdl §1 56 dg g {7 20 G5 O FOaaase g § asdr § 3R e
30Tel T T Fehel dF 5ms2 & &7 § ATd F HH HLar §1 Slal Tt & o
gl faraett &

Options :

', sdom
2 740m
3 640m
% 340m

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The escape velocity for a body of mass lkg from earth’s surface 15 11.2kms™, the escape velocity for
a body of mass 100kg would be:

Options :

1. 2

% 112%10% kms'!
2.

«  112kms?

3.

v 112kms!

4.

w  L112kms’!

Question id : 6039  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
geelt 1 Fag ¥ 1kg 8 F U3 &7 gemaa 91 11.2kms™! &, ar 100kg geaa= &
s &1 gemad 997 fohdaT g

Options :
11.2 x 102 kms™'

#

2 112 kms™
3 112 kms'!
‘; 1.12 kms™

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bemoulli's theorem 1s a consequence of conservation of:

Options :
1.
Energy
& 23
M
w  Momentum
:; Angular momentum
4.
% Mass

Question id : 6040 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT T vAT 38 § Fad HLEToT &1 9fionH §:

Options :
L st
2
3 @i e



o EeTE

Question id : 6041 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The zeroth law of thermodynamics mtroduces the concept of:

Options :

1.

% Heat

2. Temperature

L

; Entropy

‘; Internal energy of the system

Question id : 6041  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT &I FIaT oA S [ 3TUROT & @] T 6

Options :

L o

#

E 1

&

3w

#

‘; TOTTer S STARE Felr

Question id : 6042 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The temperature at which the molar specific volumes for liqmd and vapor

phases become equal 1s termed as:

Options :
1 -~ 5
© Buoil t
. oiling poinf
2. Critical temperature
4
3. Triple point
#
4; Temperature of vaporization

Question id : 6042  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g dIUHETH T FEOTAl ¢ o OY &g & Tl HAei [afite 3Eaa R areg gresn

R 5 T &

Options :

1. 1

P EREICH

2. 2

»  IidS ArdEe

3. -

w T fag

; aTsIeh{oT T ATTATT

Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The temperature of the reservoir of a Camot engine. operating with an efficiency of 70% 1s 1000K.
The temperature of its sink 15:

Options :

b 300k
2 400K
3 S0k
T 700K
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Question id : 6043  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
70% &THar & Tl gii=nfeld Ue @il Sofel & AR & ardA 1000K &1 s

THor &l aTgHTe 4T &

Options :

', 300K
% 400K
3 500K
3 700K

Question id : 6044 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A tuning fork. vibrating with a frequency of 90 Hz. 1s moving towards an observer with a with a
speed of 0.1 times the speed of sound. The frequency of the note heard by the observer would be:

Options :

L som:
2 o0H:
3, 100H:z
T 10

Question id : 6044  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
90 Hz & 3gfcd W HIGAR Teh Taiy, =afd & a1 @1 0.1 aar afd &, Jateh Hr

3R 9€ T 81 WaTh SaT g A atel T T 3dfed T el

Options :

L 80 Hz
290 Hz
3, 100 Hz
T 120 Hz

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a desert. a beetle’s motion sends fast longitudinal pulses. vy = 150 ms!. and slower transverse

pulses. vg =50 ms L, along the sand’s surface. The sand scorpion has eight legs; spread roughly in a

circle of 5 cm diameter, intercepts the faster longidudinal pulses 4.0 min earlier than the slower
transverse pulse. The prav is located at a distance of:

Options :

;é 3em
@ 30 em
zé 3im

4; 30m

Question id : 6045 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

ue e A v 3 & aifa el Wap W dla seeed wg v =150 ms”

3R A ey TOE vs = 50 ms” Al 813 & =g & 36 R S owmswer S5cm @ @t
S AT el TOg B e HuET TG ¥ 4.0 e gpd AT G §I RIeR ot g W e

Options :

3cm

LN w-

30cm
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3m

30m

wPH> g

Question id : 6046 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Y and Z are two partially reflecting glass sheets. a distance / apart in air. White light falls normally
on Y. The light emerging from Z 15 analysed by a spectrometer. A dark band 1s observed in the
spectrometer at a wavelength . The distance / must be equal to:

-

| 0 =
v Z

Options :

1.

- n\/2

2 (1202

3 (142

®

4

Y@

Question id : 6046  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Y 3R Z 2 39 §9 & Wace Fid H Aed § S gar # veh gel § /gl W 3T

37T TET &1 Y W HHEAd: Tthe WehieT 95T &) Z § I dlel Uaer & fdeeiuor Ud
TR @Rt foFar Aar §1 o @19 v ) Slegiey # U A% W Avs aEr
ST §1 ¥ / 3 @ fhEe R gl aiRw

ey

je 0 —
v ¥

Options :

1.

- n\/2

2 (1202

v

3. (142

®

4.

b @

Question id : 6047 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
According to Curie-Weiss law

Options :

1. ._ C
4 /' T-86
2 o C
x X755
3 i,
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4. ¢
* 1=7g

Question id : 6047 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FI -J50d A & AR

Options :

1. __C
v 15
2. _C
% XTTig
3. ._ C
x LT T
4. __C
% X7Tg

Question id : 6048 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A 50uf capacttor m a defibrillator 1s charged to 3000V The energy stored 1n the capacitor 15 sent
through the victim during a pulse of duration 2 ms: the power of the pulse 15 close to:

Options :

L soRw

@ 75 KW

3 150kW
T 2006w

Question id : 6048 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U EEgeet F 50uf & FAHET &7 3000V d& 3T AT Sar &1 2 ms afE &

g ¥ N SRTeT # R A M FoT TR & Aegs 9 o ot g vog
orfarg wameTaT &

Options :

1.

L 50 Kw
2.

v 75 kW
3150 kW
%

4.

L 200kW

Question id : 6049 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two parallel beams of electrons moving in the same direction will:

Options :
1.
repel each other
& P
2. : : .
" will not interact with each other.
3.
.,  attract each other
ié be deflected normal to the plane containing the two beams.

Question id : 6049 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T B faem A AfAART Selale 7 & AR [T ger

Options :

1 &

v U GEY @ dfaeiid &l
5 .
- Teh EEY W TATTAT TGl B
3
®
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4. fRoT G &l FAGSE el drel G $1 3R AT &7 & 73 ST
%

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A magnetic material when placed 1n a magnetic field 1s pulled out of it. The material 15

Options :

lg Paramagnetic

f? Diamagnetic

; Ferromagnetic

4; Antiferromagnetic

Question id : 6050 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

9 T FEO TG $ U GEadid & H (@AW, 36 JFahrd a1 I ap] &Y forr
STar §1 ar I5Te

Options :

; AT &

2.

v afoaFahT &

3@ dlggradT &

4 ofggrew R &

Question id : 6051 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The earth’s magnetic field at a given point 15 0.5 Whm™=. This field is to be annulled by magnetic
induction at the centre of a circular conducting loop of rads 5 Ocm. The current required to be
flown in the loop 1s nearly:

Options :
Lo02a
2, 04A
3 4a
1 404

Question id : 6051 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
s T aw fig W qedt & gred &7 0.5 Wbm? #1 5cm 3ea & gedmeR

AR T & &g W IR IROT ZaRT 50 &7 H [Asher fomam S 81 o9 A garigd
fhT Sl & foU safatd faegd varg oeregar fehcer glom

Options :
Loo02aA
f?‘ 0.4 A
3 4A
o40A

Question id : 6052 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a bee structure. the packing fraction 1s:

Options :

]g VZ /6
2& '3

3. (z4f3)8
4
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A; V56

Question id : 6052 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U FRIRT FEAT H, Tl 3T sHA & @ &

Options :

NG ETC
2 3

3.

w (mV3)8
T VEwe

Question id : 6053 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Electric field intensity at the centre of uniformly charge distributed hemisphere 1s

Options :
. &
& dg,
2. 28
® g
3. =
® 2g
4. 9
® g,

Question id : 6053  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U A &9 I HARIT AT & &g @ bega a7 draar &4 g ?

Options :
1. a
o 4g,
2. 2o
® g
3. a
® g
4 O
® g

Question id : 6054 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
What is the difference in temperature of water at the top and bottom of a rainfall of height 500 mts.

(Sp. Heat of water = 103 cal kg & J=42 J/cal)

Options :

Lo oa0c
Z g
;- 1.16°C
4 asc

Question id : 6054 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T 500 Hex = gut (rainfall) F ofrd 3R F@ W U & OOEE F FAr 3o e ?

(ar=fr & Taferse mwAT water = 103 calkg & J = 4.2 Jical)

Options :
1.

P 20°C
2 o

#®



32812016
3. 116
L4
4.

u  4.9°C

Question id : 6055 Question Type : MCQ

iAKC - Question Paper Preview

(Correct + 1.0 , Wrong - 0.0)

Energy of a photon of wavelength 58920A° eputted by sodium vapour lamp 1s

Options :
Loo21g

2 21MeV
S 21ev
T 21ca

Question id : 6055 Question Type : MCQ

(Correct + 1.0 , Wrong - 0.0)

T HISTA arvq oFd gaRT 3adteld 5890A° TICEY @rel Bieie HT FaAT sl

Options :
L2144

2 21 Mev
5o 21ev
1 21cal

Question id : 6056 Question Type : MCQ
Two springs are connected to block of mass M placed on a frictionless surface as shown below. If

both the springs have a spring constant k. the frequency of oscillation of the block 1s:

NN

AAAURNNN

R

VYT -

/

‘f\\ \\ \\'\\_

777 77

7 7
".-/K £/ / /;;f /

Options :

Question id : 6056 Question Type : MCQ

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)
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ST EMT AT HAAR T GYURTed HAE W GedAA M & s @ & O S5 g b
afe gt el & T R 4 &, df =oie & gete dT 3dfcd a9 g

AARRNARNENNY

AMANNN

|
/////// 77 I TTTT, "4

T

Options :
B
2w/ | 2M
: G
# \on/ M
3 (1) 2k
v \2n/ M
4 (1) M
® 2w/ | k

Question id : 6057 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The occupancy probability P(E) accordmng to Bose-Eisntien statistics 15:

Options :
; 1(exp(E/KD) - 1)

lexp(E/RT) +1)

2
#w

3 1 iexp(ERT) - 1)
x UASEPLH

4 ——
“ 1/(exp(-E/&T) +1)

Question id : 6057 Questlon Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Jre- 3MeTersd & sl & AR HEgaHr Wataterer P(E) s 3 Raetr &

Options :
1.
< 1(exp(E/LT) - 1)

Tlexp(E/kT) +1)

2
®
3 exp(-E/AT) - 1
% U(exp(-EIKT) +1)

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the distance between sun and earth were reduced to half its present value. then the number of davs
in one year would have been

Options :
1. &
x 0
2. ¥
< 129
3. 258
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4.
“ 730

Question id : 6058 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

iAKC - Question Paper Preview

af g T g & A B ot adee gl dr s oY ST A vw o F fhae R

g ?
Options :
Lo65
ff- 129
3. 258
4 730

Question id : 6059 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following is not the Maxwell's equation ?

Options :

1. =

% divD=p

2. S =

v divB=—,J

3. = _—dB

% curlE = e

ié curlH =._T+Q
ot

Question id : 6059 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fArafefag & O Fia fewda &1 g 787 § 2

Options :

; dj\.fﬁ:p
2. P 3
v divB=—p J
3. - -ZB
curlE=——

® at
= = AD
; cur1H=J+£
ot

Question id : 6060 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of modes of vibration per unit volume between 10, 000A° & 10.020 A® s

Options :

L 377 % 101 vib?
22514 vib®

3 37.7% 1015 vib/m3
v !

4 377 10° vibd

Question id : 6060 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10, 000A° & 10,020 A° & o<1 9T S&rs glelel & HisT I gwer &

Options :
L 377 x 10 vib/m3

®
2. o ib/m3
% 25.14 vib/m
3.

37.7 = 10'% vib/m?

SN
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®  37.7 x 108 vib/m3

Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The colours seen i the reflected light from a thin film are due to:

Options :

1. : :

P Diffraction

2. Interference
o

3. Polarization
#

4; Dispersion

Correct option is 2 and hence changed answer to 2.
Question id : 6061 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U gdel fihed & wrafdd werer # o1 o eRer ¥ fews & &

Options :

1.

PR CERT

@ SARETL
3. erdieRgor
% a5

4 ot

®

Correct option is 2 and hence changed answer to 2.

Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two coils. each of self inductance L. are closely wound in series such that the sense of their winding
1s opposite. The equivalent mnductance of the combination 1s:

Options :
Lo
2 L
f? Zero
Lo

Correct option is 3 and hence changed answer to 3.
Question id : 6062 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ar @Sl oed & gede &1 L F@-Raed §, A0 A 59 9BR HEER oudl 75 § (6

I asfEe 4w Auda &1 WA 1 gedieh WReed hdell o

Options :
Lo
2 L2
;' Zero
Lo

Correct option is 3 and hence changed answer to 3.

Question id : 6063 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The torque experienced by a magnetic dipole. having dipole moment M, when placed in a uniform
magnetic field of intensity B 1s:

Options :

1.

. MB

2.

. MB
5. Ml

* |B

4.

< Mx B

Correct option is 4 and hence changed answer to 4.
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Question id : 6063 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
s rh gfaga e efava 3Evt Mg, # S B waedl & SAEY frad &

I 1@ S ¢, A 36% canT IeEd AT A aren et fhaer i

Options :
1.
" MB
2.
- M.B
5 Wl
#* |8l
4.
o MxB

Correct option is 4 and hence changed answer to 4.

Question id : 6064 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The magnetic field. due to a circular coil of radius a. carrying a current I at an
axial pownt distant z from the centre of the coil, 15 given by:

Options :

! B= f.LlDf(Fl)-(E(aj‘i':l)a 2

v
2. B AVOE 2V
% B=G)QE@+="?)
3. B=( N T P AR

" = (ugia Y (2a +=°))
4; B= f,uofaj}.-'( a4’ )l

Question id : 6064 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TS TFIHT & A S @ F geaihR Fsell & FROT Fe [ FaIed 6, dsel A
¥ el g & zgll W ¢, 91 9 voR saad fFar S &

Options :

L B = (NP
% B = (B

% B = @AFD)

% B =@ P2

Question id : 6065 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The London equation 11 a super conductor 157

Options :

g viB= B(mcl) (4m nqu
2. 2B = BV (ma )2
< = B(mec~)/(4mq-)
3. 2p— 2 22
& VB =B(mec")/(4mng")
4. Fi s 2

w A B = B(mc~)/(4mmg-)

Correct option is 2 and hence changed answer to 2.
Question id : 6065 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ek g & ded THEOT S8 O & B

Options :

L v2B = Bmi(4n ng?)
%, v2B = B(mc)/(4ma?)!"2
3 v2B = B(mcd)/(dnnq?)?
% AB = B(mc)/(4nnc?)

Correct option is 2 and hence changed answer to 2.
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Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The following differential equation

a(dJ v dxl) + b{_dl}"dxl}l +exy =0

1s of:

Options :

lg first order

2.

& second order
3.

® zeroth order
ié third order

Correct option is 2 and hence changed answer to 2.

Question id : 6066 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TFATARaT Haehel AT

a(d?y/dx?) + b(d2y/dx?)? + cxy = 0

SAH

Options :

L o Aol £ 2

2.

2, cfedha Ao A ¢
3y Aok dr ¥
4 qd Aohr fr g

A

Correct option is 2 and hence changed answer to 2.

Subsection : 2, Question Shuffling Allowed : Yes

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If £ 15 twice differentiable such that f"(x)=—f(x) and f'(x)=g(x). h(x) :[ 1 (_':c)]1 +[g(x)]‘_
then the value of h(10) if h(5) = 11 1s equal to

Options :
L -

% 2

2.

. 8

3.

v 11
4.

x

Question id : 6067 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ffe f & AR adhereta ¢, S &6 7)) =~ () AR ) =2(0).

hx)=[fOT +[g()] . @ @am & afe h(5) = 11 &, & h(10) &
A fhad et gen

Options :
L5
2 8
5o
S

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The points at which the tangent to the curve v = 45 is perpendicular to the line

xT3y=2 are



3/28/2016

Options :
1. z;
v (1.6).(-1.4)

2.

s (1L6.045H
3. .

o (6D
4.

o (GD.C14

Question id : 6068 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

iAKC - Question Paper Preview

7 fog ®l7 & & 59 @ ah y = x>+5 &7 TodR@r x + 3y =2 (@ & w@Faad §

Options :

o (16, (14)
L8, (14
3 6.1, (4-1)
L6 (14

Question id : 6069 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
i x :+mn_ E4 I . then the value of .\f?-l‘}'ﬂ 15

|
L) \ x &

-

If w=sin~ ;

Options :

1. -
% U

2& 2u
"; 3u
4.

& 0

Question id : 6069 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

iy A - -
Ilg u=sin'1'l:+mr1_1:i' g oar .\’E+}'g & AT T
¥/ Lx) & cv

Options :

Lou
2& 2u
; 3u
Lo

Question id : 6070 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

2 2 = 5 ay 5 =
The solution of the differential equation (¥ +x)" — =a” 1s grven by
ax

Options :

1. i i {y—c)
V+x=atan,
& | a JI
2. (y=e)
o Vv—x=tan
L a )
3. ; 1
y—x=agtan(y—¢
PP | )
4. (e}
% a(J.—_\j—tan:‘J.—EJ

Question id : 6070  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tastees aHeoT (,r+x)’§=a’ FT 5 SAH ¥ fRu% c@rT fear Smar
X
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Options :
| O .
¢ Ytx=atan L )
2. . (¥=e)
x Yox=ta| a i

wh g

a(y-9=tan| y

\

y—x=atan(y—c)

b

al

!

Question id : 6071  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Eliminating a and b from the (x—a)’ + (y—b)’ +z° =¢* the partial differential equation is

Options :

1. 2 2
w Z@-gth=c
2. 2.2, .2

v Z (p"+g +Dh)=
3. 202, 1 2
w Z@+a)=c
4. 2 2
w Z(p-q)=c

Question id : 6071
(x—al +(y—b)Y+z2

e a1 &

e

Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

=c*¥ a 3R b TFT & F I WF Thes FHET 5T T

2
Z

Options :

1. 2 2
w Z(p—q+l)=c
2 (pregi+l=
v prg )=
3. 2,2, .1 1
w ZW@+g)=c
4. 2 2

w Zp-q)=c

Question id : 6072

Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

= R R £
The series 3" (2x)" converges if

Options :

Lo —1<xst
2. )
x —2=x<2
3.0 1 1
v E.c.x-c.E
4. _1___1
® 3773

Correct-option is 3 and hence changed answer to 3.

Question id : 6072

Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Syofr 2(2_\—3* AfEEia g & afg

Options :

1. 5 5

*® -1=x=1
2. 5o
w 2=x=1
3. —l('(c

' 2 2
4. 1. _1
x T35

Correct option is 3 and hence changed answer to 3.

Question id : 6073

Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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The sequence {S,} defined by S, =.J7+5,.5 = J7 converges to

Options :

1. 25 B 4

o Posttive root of x" —x—7 =0

2. T 1 5

% Negative root of x* —x—7=0
3. 25 B =

g Posttiverootof x+x—7=0

4. ERILE 1 &

% Negative root of x* +x—7=0

Question id : 6073  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Sp1=AT+8,.8=+7 ZanrT aRenfaa W{Sn} A O frad wEgia gar &

Options :

1/- X =x=7=0 & TAcAE A
é x'—x~7=0 & FONHF A
30 P 4x-7=0 F uaEAF HA
% o
4; ¥ +x—7=0 T RUNHF A

Question id : 6074 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of cosets of H in G. where G =(Z, +) and H = (42, +)1s

Options :
1.

o 0

2.

v 4

3.

x I
4.,

x 2

Question id : 6074 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
GH H& ¢ Gl &I SEA S S T &, 81 G = (Z, #) IR H = (4Z # &

Options :
Lo
5 4
S
L2

Question id : 6075  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If R 15 commutative ring with unit element. M be an ideal of R and R/M 15 finite mtegral domain then

Options :

1. : . ’

¢ M 1s a maximal ideal of R
2& M i1s mmimal ideal of R
3. Misavector space

#

4. M1s acosetof R

x 1 a cos

Question id : 6075 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gfe s aad & Oy R HAAEHAT dod &, M, R &1 Ue e ¢ 3R AWM oRfaEg
FAERS S &, ar

Options :
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M, R =T 3feman 3mee §

M, R & #gadH e &

M v Gfeer e &

R 2 1 S

M, R & @8 TH==1 ¢

Question id : 6076  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let A be an nxn matrix from the set of numbers and 4 =34 +44—67=0 where [ is an nxn

unit matrix. If 47 exists. then

Options :

1. g

o Al=d-T

2. 1_a.

o Al=34-6I

3@ At =A4+6]

4 4o l[’A’ —3.4+4])
T 4 6" 7

Question id : 6076 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A ST & TEant & e aHeeg A ¥ axn ARtES § IR A 347 +44-61=0

S8 | TF uxn SHE HCFT g AL T W &, ar

Options :

1. g

e Al=4-7

2. o

w  Al=34-6I

3@ At =A4+6]

T l[’A2 —34+4])

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

6 —2guid
If the product of two eigen values of the matrix | =2 3 —1| 15 16. then third eigen value 15
[ 2=
Options :
Loy
v 2
2. 5
x 2
3.
% 36
4.
% O

Question id : 6077 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

6 -2 2
Agaw |2 3 1| & & fEwaiE (3n5de) AW F AuEaEd 16
2 -1 3

g, o1 I arfareeTiveE (3TSAe) A 398 O =T E

Options :
; 2
2 2
336
16
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Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If 3x+2v+z=0, x+4v+-=0, 2x+yv+4-=0 be a system of equations then

Options :
it can be reduced to a single equation and so a solution does not exist
1t has only the trivial solutionx =y =-=10

it is consistent

determinant of the matrix of coefficient 1s zero

P> gL LD g

Question id : 6078 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tl Ix+2y+z=0, x+dy+z=0, 2x+y+4dz=0 THEHLON FT gomwer & ar

Options :

TE geT o U THEROT dd FHF & o7 Fhal & AR 5T WhR §el 61 &Hedr &
SHRI T O FA X =y =2z=0%

% FEIE ¥

R T A

U F HeET F EROE o &

Question id : 6079 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a coordinate system is attached to a rigid body and one describe the position of any particle

relative to it. then such coordinate svstem is called

Options :

frame of reference
coordmate svstem

space time reference system

> wP wd (-

Space time distance velocity system

Question id : 6079 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afy UH GHAT UUTE (F3iifSeie fAEcH) UTH $oK U5 & oS &5 ¢ 3R S a4 a9
et ot &1 Teufa &1 gl &ear § df 59 ave &1 GH-ag YTl &l @7 Sl Sidl &

Options :

1. <

o el fawre

2& THwaT YOIl

3 femwe et wome
4,

®

TeerepTer gl a1 womeir

Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a small displacement of a system from the rest position (after getting some energy) results m a

small bounded motion about the equilibrium position. then the system 1s m

Options :

neutral equilibrium
Unstable equilibrivm

Stable equilibrivm

P L 8> w-

Natural equilibrivm
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Question id : 6080 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T ol yomelr & e & Fufd & ol & favus &1 IROTH (F& el 9red et

& o) HEETaEAT # o Uileg A1 gar & o vorel s ¥ oy Rufy 7§

Options :
dTH HHEGEAT

ITEATET HTaERT

T G

#H L w> w-

TAEIITad FrEATaET

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let I"be a 3 dunensional vector space with 4 and B its subspaces of dimension 2 and 1 respectively.

If AmMB= {0} then

Options :

Lov-a-3
2, V=d+B
3 v=4B

Y v-ws

Question id : 6081 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A= &ifeT 6 Ve B afgyr Garaa § s A 3R 8 & 2 3R 1 3w

& 3u-feaeaa g1 o 4nB={0} &, aF

Options :

Lov-u-3
5, V=4+3B
3 v-4B

Y v-as

Question id : 6082 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Consider the linear transformation T:R* = R* given by T(x v.z.u) =(x, 2. 0.0)7(x, v, z.u) e B
Then, which one of the following 15 correct?

Options :

; Rank of T = Nullity of T
é Rank of T = Nullity of T
:;é Rank of T = Nullity of T=3
4 Rank of T=Nullity of T=2

Question id : 6082 Question Type : MCQ (Correct + I.Q , Wrong - 0.0)
Teey.za)=(xp.0.0V(eyzu) e R g@rr f&v 70 IW@F TR TR >R ©
A fif5T) s85F g gaev & Feafiag & O & ar g8 82

Options :
T & ¥F > T &1 e

T & ¥&F < T &1 oaar

L.
#
2.
E
3 T#EE > T eaar = 3
4,
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v THE > T H oeear = 2

Question id : 6083  Question Type : MCQ
The order of convergence of Newton Raphson method 15

Options :

> P owd (-

2

Question id : 6083

Options :

U 2 1 S

Question id : 6084 Question Type : MCQ

¥ =gsinx in fo,7] 15 less than 5x10™ 15

2

3

Options :

P v oad (-~

Question id : 6084 Question Type : MCQ

0.02

0.002

0.04

0.06

Options :

1.
v

P> g» gd

Question id : 6085 Question Type : MCQ
A curve 15 drawn to pass through the following

0.02

0.002

0.04

0.06

Question Type : MCQ
T e [T @ RO S I a4 &

iAKC - Question Paper Preview

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)
The maximum step size h such that the error in linear interpolation for the function

(Correct + 1.0 , Wrong - 0.0)
Hfirhad \OEr AT (FeT @5<) h 59 96K ¢ & fon] & y = siix Bod & foiw

ifaw siades & A 5x10° § & &

(Correct + 1.0 , Wrong - 0.0)

X

i

15

N

-

e}

3

313

4

v

N

24

N

47,

-

8

3

26

2.1

The area bounded by the curve. x-axis and lines x = 1. x = 4. The volume of solid generated by

revolving this area using Sumpson’s 3/8 rule 13

Options :

1.
%

68.54
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f/ 6538
3, )
S 6358
T 6438

Question id : 6085 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U g% oIFEAread ¥ g7 Y ol & oI aa e am g

X 1 b | 2 25 3 3.5 4

V' 2 2.4 27 2.8 3 2.6 2.1
as, x-377 3 W@ x = 1, x = 4 @R &1 uREs fear mar &1 eawe & 378 fauw
T ST S 36 & H A drel O T AT 3 & 4T 6

Options :

L 6854
f/ 65.38
3 6358
4 6438

Question id : 6086 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The function w = Jog = 15 analytic everywhere except at the value of z then z 15

equal to
Options :
1.

* -1
2.

= 1
3.
w 2
4.

WV 0

Question id : 6086 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
z & AT F IOl Bell w o= log z 936 T ) HeSONcaE ¢, of z ey auew

3

Options :
P
O
32
oo

Question id : 6087 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The Tavlor series expansion of ?=|z|<l 15
z—12
Options :
1. 1 2
|l
®
21 2 g
2 1 z
- =t —+—
L 2l 2 4 87
1, z 22 2
¥ 3 gty
. . )
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Question id : 6087 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

L <1 @ R sohr frear gt & wh ar

Z— i

Options :

1 1 2 Y

I R A

2 1"‘ z”

v "7t
17,z 22 2

R )

ié _l:‘1+£_z_:_z_3 ‘
202 4 877)

Question id : 6088 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let x be a non-optinal feasible solution of a linear programmung maximization problem and v a dual

feasible solution, then

Options :

1& the primal objective value at x 1s greater than the dual objectrve value at v
2& the primal objective value at x can be equal to the dual objective value at v
3\? the primal objective value at x is less than the dual objective value at v

A; the dual can be vnbounded

Question id : 6088 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e e 1@ FARYE AESHaHR0T (WEnfEe AFuasase) 56T & U IR-350H aded T X § 3N y S8 aag ann- g, ar

zptlozs%mmmm,ywaﬁmﬁmmﬁmmm%
2@ X WX URTE a¥dferss A, ¥ 9X a6 aEdieise Al & SXe 8l @adT o
3, x T R aegfetes AF, y X AR avdiee Al 1 3 & g €
1 AR () F RAE (errss) R S Fehar &

Question id : 6089 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A square 15 a convex set. its exterior points are

Options :

I Sertices of square

sides of squares

inside of square

g 8> a>

QOutside of square

Question id : 6089 Questlo e: MCQ (Cogrgct + 1.0, Wrong - 0.0)
T 3T U 3cdel AT mﬁ'?r HqFelg ?

Options :

1. -
L @ ¥ AR
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Question id : 6090 Question Type : MCQ

iAKC - Question Paper Preview

(Correct + 1.0 , Wrong - 0.0)

Let A be a set having “p’ elements and B be the set having “q” elements. the number of relations from

AtoBis

Options :

29?—9

P P 8> w-
o ]
k.

Question id : 6090 Question Type : MCQ

(Correct + 1.0 , Wrong - 0.0)

qE A TEh T ¢ o P aaa b 3B wHeeT & g 3@@a B, T A ¥ B @&

Haelf fr & Faer §

Options :
Lo o
% 2

2. e

% 2

3. o
v 2

4. Y Bg+g
% 2

Question id : 6091 Question Type : MCQ
Which one of the following 1z a null set?

A={x:xisprime}

B={x:x+8&=8}

2 N
C={x:x"+1=0_x1sareal number}

=

D={x:x"=4 xisannteger}
Options :
ol
2D
3 A
L B

Question id : 6091 Question Type : MCQ

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

fmafefaa & F <9 @1 ve Rea wq== 87

A={x:x 3= 8}
X+ 8 =8}

C={x:x2+1=0, x UF arades e &}
D ={x:x=4, x o quiic 8}

Options :

Le

2D

3OA

4.
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Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The locus of poles of normal chord to the parabola 1 =4ax is

Options :

L (e+2a)y'-4a7=0

%
2. 2 3
@ (x+2a)y” +4a =0
3. PO S

*® (x—2a)y" +4a’ =0
Y (x-2a)7 —4a =0

Question id : 6092  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o 3P =dax & WHET ST & @FA F fdag g

Options :

L (x+2ap'—4a'=0
2. 1 3

v (x+2a)y” +4a =0
3. PO S
* (x—2a)y" +4a’ =0
1 (x-2a)7 —4a’ =0

Question id : 6093  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The equation of plane which passes through the point (2. -3, 4) and 15 parallel to the plane 2x — 5y —

Jz=61s

Options :

Lo xsy-7z-9=0
2 2xS5y-7z+6=0
;- IxSy-Tz+9=0
‘; 2x5y—Tz-6=0

Question id : 6093  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I AW F THEOT F=7 § S 55 (2, -3, 4) § 77 W A § 3R 'HEaw 2x - by -
7z = 6 & GHEEH &

Options :

Lo o2x8y-7z-9-0
2 2 By-7z+6=0
f? 2Xx 5y -7z +90=0
4 2x5y-7z-6=0
® y z B

Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The value of ”[ yzdvdz + zxdzdx + xydedy ) where S is the surface of unit sphere 42428 =1 is

Options :
koo

éé 4T
;' 4z 3
1 10m
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Question id : 6094 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
[[(vzdyeiz + xetzeix+ xydray) o7 AT G188 § @ & SET S FHE &7 T FAw

.\-’2+}':+Z:=l %

Options :
Lo

i 4T

3 4B
4 107

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
1

The value of | F(x)dx, where f(x)=1-2x,x=0; f(x)=14+2x.x=0 1s
b

Options :
Loy

x 2
2.

x 3
3.

¢ 4
4.

w 0

Question id : 6095 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T

| flx)dxwhere (x)=1-2xx20; f(x)=1+2x2x20 7 A FT o

23

Options :
L2
2 3
54
L0

Question id : 6096 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The volume formed by the revolution of the loop of the curve

J.'](a+ x)= x (a@—x) about x-axis s

Options :

l. 2 |
P —Efra log e—jl
2. 2 h
P log _l
:; —E}m‘:log _I

Question id : 6096 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
X-38T & I aF ¥ (a+x)=x(a—x) F AT & IREHACT a1 Id AT -

Options :

1. 2 (87
——7ra log| —

% “\F)

2. 2 3 47

* §,-Ta log )
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3 2 5. (4Y
% ——<adlog —= I
Le )
4 2 : e
L, —aa log| — |
¥ 3 | &7 )

English Language
Section type : Online, Number of Questions to be attempted:20, Mandatory or Optional: Mandatory, Section Marks: 20.0
Subsection : 3, Question Shuffling Allowed : Yes

Question id : 6097 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word sumilar in meaning to- ABANDON

Options :

Lé Possess

i Keep with
2? forsake

4, :

., union

Question id : 6097 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- ABANDON

Options :

lgé Possess

i Keep with
3. y

@ forsake

4. :

. union

Question id : 6098 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

; Irritate
é Decline
zé Praise

A; Excited

Question id : 6098 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the word similar in meaning to- AGGRAVATE

Options :

i? Irritate
%é Decline
:; Praise

2 Excited

Question id : 6099  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Grve one a long rope

Options :

I to let someone commit mistakes
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to give a big helping hand

to support a person

P 8L gd

to make 1ssues of small matters

Question id : 6099  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Grve one a long rope

Options :

to let someone commit mistakes
to give a big helping hand

to support a person

#H w> owd

to make 1ssues of small matters

Question id : 6100 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Hard nosed attitude

Options :

quality to forgive
protective

aggressive

#H LX 8> w-

calm

Question id : 6100 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Hard nosed attitude

Options :

quality to forgive
protective

aggressive

P LY 8> w-

calm

Question id : 6101  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropniate for the phrase: Wild-goose chase

Options :

collective effort
hard work

Very profitable

QP Y xd g

Unprofitable

Question id : 6101 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the phrase: Wild-goose chase

Options :

collectrve effort

hard work

®#P owd w-

Very profitable
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4. Unprofitable
Y
Question id : 6102 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:
P=advocated complete equality:
Q=1n 1854, Anthony devoted herself:
R=between men and women:

S= to the rights of women and

Options :

; QSRP
§> QSPR
; SPRQ
2 SRPQ

Question id : 6102  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=advocated complete equality:
Q=1n 1854. Anthony devoted herself:
R=between men and women:

S=to the rights of women and

Options :

; QSRP
ik QSPR
i SPRQ
2 SRPQ

Question id : 6103  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P= occur m the Earth’s mesosphere:
Q= about 40-60 miles:
R=meteors. also called shooting stars:

S: at an altitude of

Options :

; PRQS
i PRSQ
; RPQS
j% RPSQ

Question id : 6103 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

P=occur in the Earth’s mesosphere:
Q= about 40-60 miles:

R=meteors. also called shooting stars:
S: at an altitude of

Options :

1.
L PRQS
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2. PRSQ
#®

3,

> RPQS
4. ;
L, RPSQ

Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

0= while talking to a group. one should feel self-confident and courageous:
P=Nor 1s 1t a gift bestowed by providence on only a few:

Q: One should also learn how to think calmly and clearly:

R Tt 1s like the ability to play golf: S=It 15 not as difficult as most men imagme:

T: Any man can develop his capacity if he has the desire to do so.

Options :

1. -

!, OQsPRT
2.

> OSPRQT
3 :

> OQRSPT
4 OPQRST
#®

Question id : 6104 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find correct sequence of sentences:

0= while talking to a group. one should feel self-confident and courageous:

P=1Nor 1s 1t a gift bestowed by providence on only a few:

Q: One should also learn how to think calmly and clearly:

B It 1s like the ability to play golf: S=It 15 not as difficult as most men imagme: T: Anv man can

develop his capacity if he has the desire to do so.

Options :

1 2
- OQSPRT

< Q

2. OSPRQT

#®

3. 2

) OQRSPT

4 OPQRST

#®

Question id : 6105 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Government by inexperienced persons 15 called.

Options :

1& Panarchy
i Oligarchy
f? Neocracy
ié Ochlocracy

Question id : 6105 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Government by inexperienced persons 1s called.

Options :

lg Panarchy
2. PR
- Ohgarchy
3. T 2

N ;
v eocracy
4.
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%  Ochlocracy

Question id : 6106 Question Type : MCQ
Creak 15 the sound of,

Options :

lgé Crows
i Doors
3$é Dogs

ié Coins

Question id : 6106 Question Type : MCQ
Creak 15 the sound of.

Options :

; Crows
E} Doors
:;é Dogs

ié Coms

Question id : 6107 Question Type : MCQ
Select the word opposite in meaning to: STAID

Options :

| RESPECTABLE
2. e

2, FRIVOLOUS

3. STARCY

. ST/

% DEMOURE

Question id : 6107 Question Type : MCQ
Select the word opposite in meaning to: STAID

Options :

! RESPECTABLE
2. FRIVOLOUS
\:/

3. STARCY

> ST

‘; DEMOURE

Question id : 6108 Question Type : MCQ
Select the word opposite in meaning to: SULK

Options :

1. A AN
!, COMPLIMENT
2. MOROSE

>

3. SILENT

" )

4 GRUMP

v )

Question id : 6108 Question Type : MCQ
Select the word opposite in meaning to: SULK

iAKC - Question Paper Preview

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)

(Correct + 1.0 , Wrong - 0.0)
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Options :

l. A , -
L COMPLIMENT
2. .

> MOROSE

3. SIENT

& )

4 GRUMP

- )

Question id : 6109 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration

The Indian express savs. We shall 1ssue an astrology section m our Thursday's paper .

Options :

The Indian express savs that it will 1ssue an astrology section i their Thursday’s paper.
The Indian express savs that they will 1ssues a astrology section in their Thursdav’s paper.
The Indian express said that 1t will 1ssue an astrology section 1n its Thursday’s paper.

The Indian express savs that it will 1ssue an astrology section in 1ts Thursday’s paper.

QP w» wd g

Question id : 6109 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The Indian express says. “We shall 1ssue an astrology section in our Thursday’'s
paper .

Options :

The Indian express savs that it will 1ssue an astrology section i their Thursday’s paper.
The Indian express says that they will 1ssues a astrology section in theiwr Thursday's paper.
The Indian express said that 1t will 1ssue an astrology section 1n its Thursday s paper.

The Indian express savs that it will issue an astrology section i 1ts Thursday's paper.

QP w8 wd g

Question id : 6110  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to inspector. “Call the thieves™.

Options :

The judge urged inspector to call the thieves.
The judge ordered inspector to call the thieves.

The judge requested inspector to call the thieves.

R 2 A e

The judge ordered inspector to get the thieves.

Question id : 6110  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
The judge said to inspector, “Call the thieves™.

Options :

The judge urged inspector to call the thieves.
The judge ordered inspector to call the thieves.

The judge requested inspector to call the thieves.

B8P 8P LD g

The judge ordered inspector to get the thieves.

Question id : 6111 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said, “Ugh! I have hated him™
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Options :

She exclaimed with disgust that I had hated him.
She exclaimed with disgust that she had hated him.

She exclaimed with sorrow that she had hated him.

R 2 A e

She exclaimed with disgust that she had been hated him.

Question id : 6111 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the most appropriate for the narration
She said, “Ugh! I have hated him”

Options :

She exclaimed with disgust that I had hated hum.
She exclaimed with disgust that she had hated him.

She exclaimed with sorrow that she had hated hun.

2P 8P 4O w-

She exclaimed with disgust that she had been hated him.

Question id : 6112 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the people to their religious differences and strengthen
secularism i the country

Options :

lg Condemn
@ Sink

3. Exhont

4 Abolish

Question id : 6112  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

The minister called upon the people to their religious differences and strengthen
secularism in the country

Options :

g Condemn
%, Sink

3. Exhort

4 Abolish

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.

I have profound respect for his political

Options :

L p I
3 ty
“ ersonality
2. e
= Ambition
3. Temperament
#
i; Sagacity

Question id : 6113  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2Fdefaul...  33/52
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Choose the correct option for the following blanks.
I have profound respect for his political

Options :

;é Personality

2& Ambition

3& Temperament
i; Sagacity

Question id : 6114  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.
In spite of our best efforts. we failed to any new facts from him.

Options :

; Elicit
2@ Detain
3@ Eject
% Enlis

Question id : 6114  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the correct option for the following blanks.
In spite of our best efforts. we failed to any new facts from him.

Options :

', Elict
Zg Detain
z‘é Eject
4 Enlis

Question id : 6115 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose from the given options and improve the sentence by replacing the words tvped in bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :
Know that why did the apple fall

Know why the apple fell
Know that why the apple fell

No improvement

R N L I

Question id : 6115 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose from the given options and improve the sentence by replacing the words tvped in bold.

Newton wanted to KNOW WHY DID THE APPLE FALL to the ground

Options :

;é Know that why did the apple fall
2. Know why the apple fell

4

z‘é Know that why the apple fell

4; No improvement

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2F defaul. . .

iAKC - Question Paper Preview
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Question id : 6116 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money
Ransom to an enemy

Money for compensation

P {» 8> w-

Question id : 6116  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose the best alternatives which best expresses the meaning of the given idiom:

A sop to Cerberus-

Options :

Celebrate something
Hush money

Ransom to an enemy

P {X 8> w-

Money for compensation

General Intelligence/Reasoning

Section type : Online, Number of Questions to be a pted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 4, Question Shuffling Allowed : Yes

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In group of six women there are four dancers, four vocal musicians. one actress and three violinists.
Girtja and Vanaja are among the violinists while Jalaja and Shailaja do not know how to play on the
violin. Shailaja and Tanuja are among the dancers. Jalaja. Vanaja . Shailaja and Tanwa are all vocal
musicians and two of them are also violmists. If Pooja is an actress, who among the following is
certainly a dancer and a violinist?

Options :

; Tamya
é Jalaja
; Girija
‘; Shailja

Question id : 6117 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
o AGART & U6 GAp # 9K ddihdl, 9] MRET, TF i 3K de

araferaarieare 81 fARer 3R aorer aafaaarfeaT § 3R Seer ik deer aafes
TSI AT ST | Sorer R Tee AT A W {1 Seren, aaen, dere AR depen @i
AT § 3R a8 F 2 Ao arfeae off 8| afg gor vk A g, o s &
Fie d1 Afgen @Ead ®9 § e adddr 3t aafes arfesr &7

Options :

; GoEl
2. =T
#®
3 fafn
®
4.
o e
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Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The letters L. M. N. Q. P. Q_E_ S and T 1n their order are substituted by nine mtegers 1 to 9 but not
in that order. 4 1s assigned to P. The difference between P and T is 3. The difference between N and
T is 3. What is the integer assigned to N

Options :

1.

& 6
2.

w !
3.5
. o
4. 4
x 1

Correct option is 1 and hence changed answer to 1.
Question id : 6118 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3T LLM.N.O.P.QRSHN T 30T &5 H 1 § 9 da & 37k & fodl 31emr & &

ufgenfag ferer ae €1 P &y 4 O uigeufug frar arar 81 P 3R T & i & a5 B
N33R T & &= & 3w 3 81 a7 N & ufdeunta e arel e & 9ar oSy

Options :
1.
< 6
2.
w !
3.5
€ O
4. 4
o 4

Correct option is 1 and hence changed answer to 1.

Question id : 6119 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Five people A. B. C. D and E are seated about a round table. Every chair 1s spaced equidistant from
adjacent chawrs. C 15 seated next to A: A 15 seated two seats from D: and B 1s not seated next to A.
Which of the following must be true?

@D D 15 seated next to B
(ID) E 15 seated next to A

Options :

1. :

“ (T) only

2. :

p (IT) only

f? (1) and (I1) both
‘; Neither (I) nor (II)

Question id : 6119  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U ST A.B.C.DAHRE & 7 A7 W §5 §1 9 dE 1 T g i wd § wAw

GO W 7S §1 C, A & 9 # dor §; A, D & & die oisa a1 §; B, A & @9rel
H aE dor ¥ s & Fher W wuw ww B

() D, B & THT &7 §
(I) E, A% @907 & da1 &

Options :

L #m

2 e

3. -

v (D 3R ane=r
L FeoTdm

Question id : 6120  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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There are six villages A. B.C.D. E and F_ village F 15 1 km to the west of D. village B 1s 1km to the
east of E. village A 15 2 km to the north of E. village C 15 1 km to the east of A village D is 1 km to
the south of A. which three villages are n a line

Options :

L AcE
@- AD.E
3 ABC
4 DEFE

Question id : 6120 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0) _
A B C.D.ERF @9F o ifa §| g F, D & offgs # 1 5. gff = faa &) a1fa

B,E& qd # 1 Rr#AL gff ™ Rad §1 7@ A, E & 3o # 2 &AL gff W Rud 81
aa ¢, AF gd A 1 & g X Rum &1 aia D, A & gfaor 7 1 sl @ Rea g
Sod W ST ¥ O aia v Y@ F T §7

Options :

L acE
@ AD.E
3 ABC
% DEE

Question id : 6121 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Mr. kumar drives to work at an average speed of 48 km per hour. The tune taken to cover the first
60% of the distance i1s 10 minutes more than the time taken to cover the remaining distance. How far

15 his office?

Options :

L 30Kkm
2, 40Km
3. 48Km
% s6Km

Question id : 6121  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
A FAR FA W A & @0 48 fhaedex wid 8¢ &1 siea aifd @ ansh =emd 81 g0

& ugel 60% HET @ 9T P H o027 727 GAT 99 gl I Hal Sl H &= drel
gHT & gore # 10 fide s §1 3a sy Eaer o 87

Options :

L 30Km
2, 40Km
3. 43Km
% 56Km

Question id : 6122  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A train travels at a cerfain average speed for a distance of 63 km and then travels a distance of 72 km
at an average speed of 6 km/hr more than its original speed. If it takes 3 hours to complete the total
journey. what 1s the onginal speed of the tram 1n km/hr?

Options :

1.
% 060

2 54
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1

R

36

Question id : 6122 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e e 63 fhelidey & gfr v Afvaa sitea afd & a7 axdr § 3k s8% ag 72

A & gl 3ol areafad Ad F 6 FhAL/Ee & saer i a9t F e
1 For A G A F 05 3 G oo B2 i aredfad o mALEe A
I 7
Options :

60

36

®H> LY 8> w-
o
2

Question id : 6123  Question Type : MCQ (Correct +1.0, Wrong - 0.0)
Find the next number of the series: 1.5.2.3.3.1, 3.9,

Options :
93

6.5

47

B8P LP 8> w-

16.8

Questlon id : 6123  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
F:H_Zlﬂl H ATl HEAT &1 9dl o9NY; 1.5.23.3.1.39. .

Options :
93

6.5

4.7

#P €L ad u-

16.8

Question id : 6124 Question Type : MCQ (Correct + 1.0 Wrong 0.0)
Find the next pair of numbers of the series: 21, 25 18, 29 33, IS

Options :
37.41

37.18

#H w» owd {—

Questlon id : 6124 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Aol H 3MIT6l W1 SIS & 9al ofdm: 21, 25, 18. 29, 33, 18..

Options :
37.41

L

2.
" 37.18
3
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% 4518
4. /
- 41,18

Question id : 6125 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the wrong number of the series: 1. 3. 10 21, 64.129_3356. 777

Options :
L1
;‘ 356
3 64

Lo

Q_uesti(m_ id : 6125 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
AT H FToTd GIEAT T Iar ofdme: 1.3, 10, 21, 64.129. 356, 777

Options :
Lo 129
2, 356
364

Lo

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code MIND is written as kglb. ARGUE as vpese. How DIAGRAM will be coded in the

same code?

Options :

lé bgypevk
é bgyevpk
fy' bgyepyk
‘; bepgyyk

Question id : 6126 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e ToIfFad &5 & MIND &0 kelb, ARGUE @l vpesc Toi@ M7 §, of SaT &5 &

DIAGRAM @t e for@r srean?

Options :

ié bgyvpevk
éé bgyvevpk
ff' bgyepyk
‘; bepgyyk

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a certain code SISTER. is written as 535301, UNCLE as 84670. BOY as 129 How SON will be

coded in the same code?

Options :

Loo243
2793
3
4.
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¥ 524

Question id : 6127 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ue fAfeag Fi5 & SISTER & 535301, UNCLE & $4670. BOY &7 129 for@r =am &1 S&T

F15 # SON @7 & forar srean?

Options :
L2
2793
3 am
:‘;/ 524

Question id : 6128 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Qut of 4 alternatives. 3 forms a group. Find the odd one out.

Options

L 32156
2 34901
f/ 33338
4 33

Question id : 6128 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
4 fawedt F ¥ 3 ve FFF a9 o1 TuA faweT & T

Options :

L 32156
2 34901
3, 33338
4 37

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
BANANA 15 related to FRUIT 1n the same as CHRYSENTHEMUM 15 related to.

Options :

1. -

I Grass
2.

> TREE

3. STONE
& 1

4 FLOWER
J

Question id : 6129 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

e, Fell ¥ 3T TER Fafd § N YR e ¥ Fafad gl
Options :

L.

PO I}

. 5

3 ueR

4. wmer

\_\? o

Question id : 6130  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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Ram ranked 131 in the class of 33 students. There are 3 students below Suresh rank-wise. How
many students are between Ram and Suresh?

Options :
1.

« 12
2.4,
v 14
3.

w 18
4. 5
x 22

Question id : 6130  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
33 @l & Fam A UA 13 § TAH W T F & THG F G & AT 5 o 51 TH

3R gy & & e o &

Options :
1.

. 12
T
o 14
3.

. 18
4. 9
x 22

Question id : 6131 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Sonia was walking on the street when one lady approached him to donate for cancer patient. She
gave her a rupee more than the half of money she had. She walked a few steps more when a girl
approached her to donate for poor peoples’ fund and she gave 2 rupees more than the half of the
money he had then After that a boy asked her to donate for blind’s fund and she gave 3 mupees more
than the half of the money she had then. In the end she was having 1 rupee left in his hand. How
much rupees Somia was having in the begimnning?

Options :
Lo
2w
3 54
1 16

Question id : 6131 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
HIferar @5& W gA BT o0 9 UF AR o 39 0F FIW W & @0 g S F Fol

30 39 AfedT &l 3T U 39ciet o] o HIUE 96T # § U §YU AT & Afer ¢
&1 a8 T & FeA I adr off & e asH F 3 I el & FIT F ae of A
F5T AR ST & 3T 79 9T I € & I ST § 2 FAC SAET v TR &N
3UF AIC UF oI5eh o 39 FT & U ST H ol ol & FET o 39 39 AU 9
IeT=el T & HET AFT § 3 FUT SAGT T URT &I Ad H 39 9 had 1 F947
=] W & 9T e H# o wuw 9

Options :
L0
@ 2
3 54
4 16

iAKC - Question Paper Preview
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Section type : Online, Number of Questions to be a pted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0

Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6132  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the value of X for: (12.1 l}l + (}{)l =7322921

Options :
L o202
2, 2
331
4102

Question id : 6132  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
i f&r av weeer & AT X & J Arg e

(12.11)% + (X? = 732.2921

Options :
L 202
f/ 242
3 2.
1192

Question id : 6133  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(1024-263-233) = (986-764-156) 15 equal to.

Options :
9

LB w» 8> s-
-]

Question id : 6133  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
(1024-263-233) + (986-764-156) T ==X 87

Options :
Lo
2 6
37
Y8

Question id : 6134 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Find the value of X for: 36% of 850 + x% of 592 =730

Options :
Lo
2 g9
3w
:‘? 75
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Question id : 6134 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
e T8 AT gHEHEIOT & O X @ J3 AT Fe

36% of 850 + x% of 592 =750

Options :
Lo
2 g9
L
Y s

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The sum of the digits of a two digit number 15 12 If the new number formed by reversing the digits
1s greater than the original number by 34. then what will be the original number?

Options :
L o8
248
3, 3
pEE

Question id : 6135 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ar 3l aTell §EAT & 3l &1 AT 12 §) AfG 7o TE&ar & 37 & T # 5 agel

Fh U 5 TEAT g5 ST § S 6 #e g 9 54 H#iOs € ar Jo gEa = gein

Options :
L oos
2 48
; 39
B

Question id : 6136 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the fraction. twice the numerator 15 two more than the denominator. If 3 1s added to the numerator
and the denominator each. then the resultant fraction will be 2/3. What was the original fraction?

Options :
L sns
2 613
3 136
AT

Question id : 6136 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Teh 3797 (fraction) H. €T IR =T H=F T & 31f8a 91 Far g1 I &7 3K g+

UAE F 3 ST SEr § At 3HS IRONAT Her 2/3 U SAar §1 HeT 37er a9 9an

Options :
Lo osis
2 13
3 1306
‘; 712
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Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the fraction 8/5. 7/2. 9/5. 5/4. 4/5 are arranged m descending order of their values. which one will
be fourth?

Options :

Looas
@ 54
305
Lo

Question id : 6137 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
8/5.712. 9/5.5/4. 4/5 3731 FT ok Hedl & AU wA A e snar & ar = e )

TEam?

Options :

Lo
2, 54
595
o8

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two taps can fill a tank individually in 10 min and 20 min respectively without any leakage.
However. there 1s a leakage at the bottom which can empty the filled tank 1n 40 min. In how much
time will both the taps fill the tank with leakage?

Options :

1? 8 minutes
2. - ;
% 7 minutes
3. 10 minutes
- :
ié 15 minutes

Question id : 6138 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&1 ol T fordll R & U & ol shen: 10 fae 30K 20 f@ee 3 % T 81

greifen. A v e feud & S e gu d @ 40 Aae A @l &) e o1 Rara
& T ST 5o dah Wl Tohdel WHT H #T &40

Options :

1.

o 8 fAae
2. Hae
e 7

3. e
% 10

4 15 fee
®

Question id : 6139 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If successive natural numbers are written m a row starting from 1. which digit appears in the 200tk
place?

Options :

1.
o 0
2.

L3
3, &
S
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Question id : 6139 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g T OfFd A TEAE T 1§ E F oNTaR fodl S, ar 200F T A wia

T 3k Brm?

Options :

1.
o 0
2.

L3
3, &
S
4,

v 7

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Trains leave the stations A and B simultaneously after an interval of every 1 hour. Each train takes 4
hours to complete the journey. If a person starts from the station A for the station B. how many trains
will he cross before arriving at the station B?

Options :

L
Lo
2. %
> 5
3.

o7
4,

L8

Question id : 6140 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
YeEnfeat A 3t B Tl T 1 € & Hawd & U 919 Sisdl 6] Ueds {EEnisar arEr

F W A & T 4 9 ot §) I v AT TIE B WA & v eaw A @
oE AT ¢ 7 9F A B W UG F Tpel fahclell AMSAT @bl R ARam?

Options :

L 3
o4
2. &
> %
3.

5T
4,

% 8

Question id : 6141 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A person travels three equal distances at a speed of x km/'h. v kim'h and z km'h respectively. What 15
the average speed for the whole journey?

Options :

xyz/ (xy +yz + zx) km'h
(xy +yz +zx) / Xyz km'h

3xvz / (xy + vz + zx) km'h

t S LR I

xvz /3 (xyv + vz +zx) km'h

Question id : 6141 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
UF ATFd A SR g8 T AT FA x AL A y SAEe HR 2 fRaAEe #r

T & Q@ &ar g, & o aen & fow sitea afa @ g

Options :
;é xvz/ (xy +vyz+zx) foh.HL/EeT
2.
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# (xy+vyz+zx)/xyz) fRALEEr

fk 3xyz/ (xy +vz+zx) TR.ALEET
ié xvz/3 (xv+vz+zx) TRALEE

Question id : 6142 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The average of 5 consecutive numbers 15 x. If the next two numbers are also included. how shall the
average vary?

Options :

It shall increase by 1
It shall remain the same
It shall increase by 1.4

It shall increase by 2

#H w> o8>

Question id : 6142  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
5 oETaR Tt @ saa x &) afe e o et o anfie & & arear sitea

O & 9 ot 9 giadd HwEn?

Options :
Ig 1§ "

TqE 3T BT

g 1.4 H d¢ AT

> ow» 8D

TUE 2 ¥ 98 AW

Question id : 6143  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A goat is tied to one comner of a square plot of side 12m by a rope 7m long. Find the area it can
graze?

Options :

lg 68.5 m?
fk 38.5 m?
é; 55.5m?
‘; 63.5 m?

Question id : 6143 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U el T 12 e Sl oSl el @9 & U A WX 7 #ieY ord e § @ g

g1 5T &e & I TX Tohdl & 3T Tl & 9ol oEe?

Options :

L 68,5 @t aex
2. g
» 3&S @ AR
3. @y
53.5 @l HArex
1 635 @l aex

Question id : 6144 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 cats caught 10 rats m 10 seconds. How many cats will catch 100 rats in 100 seconds?
Options :

l.
5 100

2.
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% 50
3.

>, 10
4 g
v 2

Question id : 6144 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
10 fafeert & 10 #53 # 10 =7 &1 gas foan) 100 HFs # fora=r fafeear 100 =[pr

&I GehsIT?

Options :

1.

s 100
2. .
" 50
3.

v 10
4. 75
. 25

Question id : 6145  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Speed of a boat in still water 15 § kimn/hr. It goes 24 km downstream and comes back to the starting

pownt i § hours. What 1s the speed of water in the stream?

Options :

L 55kmn
2 35kmh
3, 40kmh
4 62kmh

Question id : 6145 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT ST H T o1 T afg 8 FRAEL/Eer §1 9w 24 TR e i fEn & o & e

3R Ao URIEE g ugee # 8 " @ THT ol § Ul F G H A 4 67

Options :

w S5 T e
2 3sReAE
3. :

» A0fRHALEe
1 62 R

Question id : 6146 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a class of 100 students. 30 passed in Maths and 70 passed mn English, 5 students failed in both
Maths and English. How many students passed in both the subjects?

Options :

Looss
2. g
2, o
38
4

Y

Question id : 6146  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
100 T &1 vk Far #, 50 B A # AR 70 © 3@ A 3T §U.5 o I

3R 3l 2 & st @1 Frad ont 2 e & sdnt gw
Options :

1.
35
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General Knowledge/Awareness

Section type : Online, Number of Questions to be a pted:10, Mandatory or Optional: Mandatory, Section Marks: 10.0

Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6147 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
World war II began by German mnvasions on.

Options :

lg Russia

éé France

éé United Kingdom
:‘/'/ Poland

Question id : 6147 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

glad™ faeags O ST & FEACT F HA E G A
Options :

1.

Low

2‘ 3

W 1

3 e

%

4, s

Question id : 6148 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
On 15 February 2013, the Chelvabinsk Meteor hut.

Options :

lg America
2Sé Canada

éé Mexico
:‘/'/ Russia

Question id : 6148 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

15 TadT 2013 &I, Tedriatd HeR (Chelyabinsk Meteor) 3¢ehT Al I M7 off?
Options :

L sfa

2 s

3 At

Y w

Question id : 6149  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Who has won the FIDE World Rapid Chess championship title 20137
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Options :

Magnus Carlesen

L

Vishwanthan Anand

Teimor Radjabov

®wH> w8» wd

Fabiab: Caruana

Question id : 6149 Ouestio_n Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fiFg (FIDE) Taeg U5 ooR=r SfFqa=fag 2015 & oo e Siar ar?

Options :

l? Hoerd wlorge

é GGG G
3. :

y [EHAR AeEEa

‘32 TS HTAT SHIEHTT

Question id : 6150  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Washington Accord 15 an international acereditation agreement for educational degrees m,

Options :

lé Arts and Humanities
é Medical Science

3. Engineering

< 2 g

ié Social Science

Question id : 6150  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

aIfeETes Uhls Fr dfaTiore Bl & BT v AORISeT Aeadr ed
FASAET 81

Options :

lg el AT ATaar

é IEIEGGIRCEIGHE

3. % )

o SELERIS

‘3; HATSAE T

Question id : 6151 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In India. inflation 15 measured by

Options :

1 Wholesale price index number

"
é Consumer price index for urban non-manual workers
% Consumer price index for agricultural workers

1& National income deflation

Correct option is 1 and hence changed answer to 1.

Question id : 6151  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
HRT H FErehta Z@nT AT e B

Options :
L, o ed gEw wen
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3. T AR FRE ¥ v S HeT g
4w s weedifa
Correct option is 1 and hence changed answer to 1.

Question id : 6152  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
National income 15.

Options :

g Net National Product at Market price
éé Net National Product at factor coast

-;;‘ Net domestic product at market price

1& Net domestic product at factor cost

Question id : 6152  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TSR 37T FATH?

Options :

L @R fer W g I sedr
é TATS R U G TSI 36UIG
3, 9NN Fed W YR W 379G
‘; TUTS TR 9T E T, 3T

Question id : 6153  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Organisms that generate energy using light are:

Options :

;é Oligotrophs

é Chaemorganotrophs
:;é Chaemolithotrophs
4. Photoautotrophs

o P

Question id : 6153 Question Type : MCQ (Correct + 1.0, Wro_ng -0.0)

VERTel T 3UANRT Feh Foll Scdeet dXa dll S Fl
Options :

g HITEEEI® (Oligotrophs)

2Sé mﬁvﬁ;ﬂﬁtﬁ (Chaemeorganotrophs)

3sé FHAITAAEF (Chaemolithotrophs)

i‘? q-ﬁg’r:«s-ﬁﬁzﬁ'rﬁ {Photoautotrophs)

Question id : 6154 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which technique is used for the study of land use pattern?

Options :

Aenal photography
Satellite imaging

Satellite imagmg and GIS

P we v g

Satellite imagmg. GIS and GPS
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Question id : 6154 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HF 37 deot & omes & v e assie & wer B S i

Options :
Eci}é’ TIEEMHT (Aerial photography)

Heomse sAfST (Satellite imaging)
Feomse sAfsa 3R ATy (Satellite imaging and GIS)
eomse sAfS, w3 Sfrdoe (Satellite imaging. GIS and GPS)

P we v g

Question id : 6155 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Particle size m so1l can be classified as

clay: 1-4 micron.

Silt: 4-62 micron.

Sand: 62-1000 micron:
Boulder: = 1000 micron.

In nature particle size distribution follows:

Options :

Binomial distribution

Lognormal distribution

Linear distribution

P we v g

Normal distribution

Question id : 6155 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ter F FOT WER F 58 TER § @i fRar = awar €

et THEE: 14 A, W (Riec) 4-62 ATSHIe, dics FHEEr 62-1000 ATSHId, St =
1000 AEHIA| UHfd F H0T HHR F FaAOT 5 UK &

Options :

gfaue TaeReT (Binomial distribution)

STHTHAT faa%oT (Logunormal distribution)
1@ @G0T (Linear distribution)

AT TTaToT (Normal distribution)

QP wY vV g

Question id : 6156  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following latitudes passes through India?

Options :
Equator

Arctic Circle

Tropic of Capricorn

QP ww 8wV x—

Tropic of Cancer

Question id : 6156  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fTrafaf@a #& § ol &1 37y AR ¥ gle Ao &7

Options :

L. symesr T
83 LY
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